#%4: SOLUTION TEIK JEE— 43 MEEL
=t Quiz 8 2t 8 2021/05/06

L SHEMVEE. 2 FOIEATRE - 358 FL e

1. Find the change-of-coordinates matrix from B to B’ and from B’ to B, indicate which

is which.
B = (sin*(x), cos®(r)) and B" = (1, cos(2x))
11 1 1 -1
Answer: Cp p= 5 {1 1] , Cpr p= L . }

It is obviously that

{ sin’(z) + cos2(z) = 1 N (s = m

—sin?(x) + cos?(z) = cos(27)

page 1 of E



SOLUTION Quiz 8 FES— 4R M

2. Let V be a vector space with ordered bases B and B’. If

1 2
Cna = {0 1}

and U = 51 — 352, find the coordinate vector Up.

Answer: U = [:g]

17:51—3522>532 |:_13:|

L Up = CB,B/ﬁB

=y 1) -
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